
x1 Headboard
x1 Tête de lit
x1 Cabecera

x2 Leg-L/R
x2 Patte-L/R
x2 Pata-L/R

x1 Leg Support
x1 Soutien des jambes
x1 Soporte para lad 
     piernas

A B C D

x6 Lock washer-M8
x6 Rondelle de blocage
   -M8
x6 Arandela de 
   Seguridad-M8

x6 Bolt-M8x40mm
x6 Boulon-M8x40mm
x6 Perno-M8x40mm

x6 Flat washer-M8x18mm
x6 Rondelle plate
     -M8x18mm
x6 Arandela plana
     -M8x18mm

x4 Wood Dowel
     -M10x30mm
x4 Cheville en bois
     -M10x30mm
x4 Kahoy nga dowel
    -M10x30mm

E F G

P401DJ067-150

Page 1 of 7 Assembly Instruction-Instrusction d’assemblage-Instrucciones para el ensamblaje
Made In Malaysia / Fabriqué au Malaysia / Hecho en Malaysia 

x2 Bolt-M6x80mm
x2 Boulon-M6x80mm
x2 Perno-M6x80mm

H

Queen Headboard
Tête de grand lit
Cabecera Queen



x2 Lock washer-M6
x2 Rondelle de blocage-M6
x2 Arandela de Seguridad-M6

x1 Allen Key-M4x100mm 
x1 Cle hexagonale
    -M4x100mm 
x1 Llave Allen-M4x100mm 

I J K L

x2 U washer-M6
x2 Rondelle en U-M6
x2 U-shaped nga washer
    -M6

x1 Allen Key-M5x65mm
x1 Cle hexagonale
    -M5x65mm 
x1 Llave Allen-M5x65mm 

P401DJ067-150

Page 2 of 7 Assembly Instruction-Instrusction d’assemblage-Instrucciones para el ensamblaje
Made In Malaysia / Fabriqué au Malaysia / Hecho en Malaysia 

Queen Headboard
Tête de grand lit
Cabecera Queen



Page 3 of 7 Assembly Instruction-Instrusction d’assemblage-Instrucciones para el ensamblaje
Made In Malaysia / Fabriqué au Malaysia / Hecho en Malaysia 

x8 Flat washer-M8x18mm
x8 Rondelle plate
     -M8x18mm
x8 Arandela plana
     -M8x18mm

x4 Hex nut M8
x4 Jambe M8
x4 Bitiis M8

N

Q

x1 Wrench
x1 Clé
x1 Wrench

PM

x4 Bolt-M8x40mm
x4 Boulon-M8x40mm
x4 Perno-M8x40mm

O

x8 Lock washer-M8
x8 Rondelle de 
       blocage-M8
x8 Arandela de 
       Seguridad-M8

P401DJ067-150
Queen Headboard
Tête de grand lit
Cabecera Queen



P401DJ067-150

Page 4 of 7 Assembly Instruction-Instrusction d’assemblage-Instrucciones para el ensamblaje
Made In Malaysia / Fabriqué au Malaysia / Hecho en Malaysia 

1

2

H

X4

MALLET
NOT PROVIDED B

Queen Headboard
Tête de grand lit
Cabecera Queen

X6
J

E

F

G

A

B

X2

K
D

L

I



P401DJ067-150

Page 5 of 7 Assembly Instruction-Instrusction d’assemblage-Instrucciones para el ensamblaje
Made In Malaysia / Fabriqué au Malaysia / Hecho en Malaysia 

3

Queen Headboard
Tête de grand lit
Cabecera Queen

A

B

X6
J

E

F

G

X2

K
D

L

I



1

Page 6 of 7 Assembly Instruction-Instrusction d’assemblage-Instrucciones para el ensamblaje
Made In Malaysia / Fabriqué au Malaysia / Hecho en Malaysia 

BEDFRAME
LE CADRE DE LIT 
EI BASTIDOR DE CAMA

P401DJ067-150

Queen Headboard
Tête de grand lit
Cabecera Queen

X2

H
N

O

Q

J

N

O
P



Queen Headboard
Tête de grand lit
Cabecera Queen

Page 7 of 7 Assembly Instruction-Instrusction d’assemblage-Instrucciones para el ensamblaje
Made In Malaysia / Fabriqué au Malaysia / Hecho en Malaysia 

P401DJ067-150

x1 RP401DJ067-150LEG -Leg L/R

-Pata L/R
-Patte L/R

x1 RP401DJ067-150LEGS -Leg Support

-Soporte para lad 
 piernas

-Soutien des jambes

x1 RP401DJ067-150HWK -Headboard

-Cabecera 
-Tête de lit

x1 RP401DJ067-150HWHF -Headboard (Hollywood Frame)

-Cabecera 
-Tête de lit


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

